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Each low-going /RD pulse enables the next 16-bit data word onto the output bus.
The RDEN edge allows a 1 to be shifted into the shift register which will then
enable one 16-bit output word at a time. The first /RD pulse clears the "shiftin"
input so only one "1" is shifted in per read cycle.

96-bit data word from FIFO to be written out to output bus.
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Beam Clock data from FIFO to be written out to output bus.

FIFO empty flag

Generate a Read Request (RREQ) from

read the FIFO "empty" flag and store.
after the FIFO read is performed. Also
a falling edge on /RDEN. Then clear
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Output order is LSB to MSB
of 96-bit data word and then
the 16-bit beam clock value.
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The /DV output is active low and
valid only if one of the 6 data words
is being output AND the fifo was not
empty when the last read was performed.
The line goes high (invalid) when the
Beam Clock counter is written out.

a 1 across the enable inputs. After all the data
Step through the 7 output words by shifting

is read, the next read cycle overwrites the data.
is read, the bus is tri-stated. If not all of the data
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